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2. 52| 1,500 0 1,500 iigﬁ?ﬂi%ggiiii;%‘ﬂ? (2% 500,000
EARIE NG LS EAMERY I =AY 800000
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: : el | D55 0 HE712(2)
A G | A | A A7HE AH & e s
1. a9 2,104 594 1,510/ A2 100,000 #17]33]= 300,000
AV 1 10,0009 #47) #43]= 160,000
A A7)TE 12,0009 #12Y#13]= 144,000
5 AAYD B AL (AL :
4. AF 917 ] 0 1,500  -1,500
1.9 0 1,500|  -1,500
3. 1754 2,000 2,000 0
13713 2,000 2,000 0
1. e | 2,000 2,000 0
1. &g ) 2,000 2,000 0| F=5-&99n1 100,000 57 #43]= 2,000,000
4.71e A9z ugds 8,000 0 8,000
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1A 529 8,000 0 8,000
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3. BRI TR 125 0 15| TEAADARERAN © 50008253 125,000
5. 10%38%E A4 142,543 77,091 65,452
1.aFgs &9 63,319| 58,471 4,848
1. 25 SFAFE-of 63,319 58,471 4,848
1. F-8hAb-d 2,000( 43,197 -41,197
1.5 20714 0 38,947| -38,947
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3. B EE EAH] 0 650 -650
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AFFHFY] 0 10,0009#307 #138] = 300,000
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Z447Y ¢ 6,0009#709= 420,000
ZAAETY ¢ 25,0009%7078= 1,750,000

4. 053G 7} 1,050 2,960|  -1,910
1. A& 1,050 2,960|  -1,910| AT 7F&ETS) 1 200,000 %37 13]= 600,000
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DHEFER 25,0009 18«12 = 300,000
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2. A1 ] A 112,698 130,411 -17,713
1.8 A Fn] 64 112,698| 130,411 -17,713
1. 387 2AA I 28,456 29,511 -1,055
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A NAF- S 1 138,000 #23]= 276,000
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1. ek 61,000 65,500  -4,500|# 7] &2 H] : 500,000 «17]=335]= 1,500,000
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1.3 -4 913 920 835 85
1.3t 39 L3 920 835 85
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